I I a A el LY N —
BNSE! B AR : ELIERN+iEssiER) (0w | ow
1
FTER
6-¢ di
(60°%HEHE)
o RERLLATED
TRERZZATER
LK% | 22415 | SH2 TRERAATL R
MR | REE ERFERSET | Wik
INFRRIE L, .
At Ga | Ce [BUOEE|mEAZ| oMz |w2EE| 2K | O
d db Ph kN kN dp dc D D, L h7
BNS 1616 16 11 16 | 3.9 | 7.2 [16.65] 13.7 52 3 07 68 | 43.5 | 40
BNS 2020 20 14 20 | 6.1 [12.3]20.75| 17.5 @R I 78 54 50
BNS 2525 25 18 25 | 9.1 [19.3| 26 | 21.9 72 90 92 65 58
BNS 3232 32 23 32 13 | 29.8 |33.25| 28.3 80 9 o7 105 | 80 66
BNS 4040 40 29 4 | 21.4 [ 49.7 [41.75[35.2 | 110 S0 140 | 98 90
BNS 5050 50 36 50 |[31.8[77.6(52.2| 441 120 3 156 | 126 | 100
RBRTEE R
FERTERERST
EAREE ST BERT EARFEHE
NIRES © Co 1158 Cr Cor IR EZER| &K
kN kN L Nem Nem D, Ds L.
Nem
BNS 1616 7.1 12.6 67.6 31.4 34.3 52 S oo 68 50
BNS 2020 10.2 17.8 118 56.8 55.8 56 o7 72 63
BNS 2525 15.2 25.8 210 105 103 62 S 00 78 71
BNS 3232 20.5 34 290 180 157 80 3 07 105 80
BNS 4040 37.8 60.5 687 418 377 100 S o0s 130 100
BNS 5050 60.9 94.5 1340 842 768 120 9 156 125
) RTUBRTRAA ARSI IR RIGHKE .
db R<FEBAT A% FI S04 KB sp 2 4 (B2 BY) EARIERIES £ Rk TE# " I3-11811.
AFRES B9 R 5
BNS2525 +600L C5
T T -T
AMBEES HEKE (BImm) BERIE o)
(3%1) £5@15-282
IN15-294 ﬁ:{l}:« fiiﬁ}fﬁéﬁé;m*ﬂmm)‘ https://tech.thk.com




514-2C

BT FA LA RN

L2
L1 B
Bs.  Ba BeH1 U
_H 6-¢ ds1 (60° %5 )
t 6-S1Xt1
Te,
™)
e T .l ()
D1|#D3lgDappdp)| gdlb} [ 4D—pD7 dgDégDs ()
4 ¢¢¢pl¢“ ']Lé_gs)e; =) glg Do @
) UL
TRERLLFTHED RERTEBED RERTEEH
B
TEMR | BRI (TR0 128 | M | BiF
EAXRFESRT| HiE 1ikE RE | RE | &R
Ds Ca Coa
H7 | H B: | Bs [Te | P | P, S| t di | 6° kN kN kg *m’ kg *m’/mm kg kg/m | min”
32| 5 |27.5| 9 2 16025 M4 [ 12 |4.5|140 | 19.4 | 19.2 |4.80X10°|3.92X10°| 0.38 | 0.8 | 4200
39| 6 34|11 2 |70 | 31| M5 | 16 |4.5] 40 | 26.8 | 29.3 [1.44x10%|9.37X10°| 0.68 | 1.21 | 3370
47 | 8 | 43 |12.5( 3 |81 |38 | M6 | 19 (5.5 40 | 28.2 | 33.3 |3.23X10*|2.20X107| 1.1 1.79 | 2690
58| 9 |55 |14 | 3 | 91|48 | M6 |19 |6.6| 40 30 39 [6.74X10%(5.92X107| 1.74 | 2.96 | 2100
73 | 11| 68 [16.5| 3 [123] 61 M8 [ 22| 9 | 50| 59.3 | 74.1 |2.79X107%|1.43X10%| 3.95 | 4.51 | 1670
90 |12 | 80 |25 | 4 [136] 75 |10 |28 | 11 | 50 | 62.2 | 83 |5.82%107|3.52X10°| 6.22 | 7. 16 | 1340
BT D mm
Bz IZEHEM | 28
HARERE T J1%E RE
D¢ C Go
h7 Hi B¢ B, Ps P. Si Xty ds: U kN kN kgem kg
39.5 5 37 10 60 32 M5 X8 4.5 5 12.7 11.8 5.20X10° 0.51
43.5 [} 48 12 64 36 M5 X8 4.5 7 16.3 15.5 8.70X10°* 0.7
53 6 55 13 70 45 M6X 8 4.5 8 17.6 18 1.72%X10* 0.93
65.5| 9 | 60 | 17 | 91 | 55 | M6x10 | 6.6 | 10 | 201 24 | 5.61x10° | 1.8
79.5 " 74 23 113 68 M6 X 10 9 13 37.2 42.5 1.47X10° 3.9
99.5 12 97 25 136 85 M10X 15 11 13 41.7 54.1 6.25X10°® 6.7
MA
EREASE15-379 THI B15-295

-/
S
N

. T77¥R%






